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Answers

1. B

2. B

3. A

4. D

5. D

6. A

7. D

8. A

9. C

10. C

Determine which choice shows the expression used to solve the problem.

1) Mike bought a crayon box with twelve crayons. If he accidently broke three of them. How many
unbroken crayons does he still have?

A. 12 + 3 B. 12 - 3 C. 12 × 3 D. 12 ÷ 3

2) A delivery driver had to deliver twelve packages. At his first stop he dropped off seven. How
many packages does he still have to deliver?

A. 12 + 7 B. 12 - 7 C. 12 × 7 D. 12 ÷ 7

3) Kaleb was buying books about astronomy. He bought six books about the planets and nine about
the space program. How many books did he buy total?

A. 6 + 9 B. 9 - 6 C. 6 × 9 D. 9 ÷ 6

4) There are seventy-two students going on a field trip. If each school van can hold eight students,
how many vans will they need?

A. 72 + 8 B. 72 - 8 C. 72 × 8 D. 72 ÷ 8

5) Sam is helping to put away books. If he has ten books to put away and each shelf can hold five
books how many shelves will he need?

A. 10 + 5 B. 10 - 5 C. 10 × 5 D. 10 ÷ 5

6) An architect was building his two story house. On the first floor the house had two bedrooms and
the second floor had nine bedrooms. How many bedrooms does the house have total?

A. 2 + 9 B. 9 - 2 C. 2 × 9 D. 9 ÷ 2

7) Haley received thirty-two dollars for her birthday. Later she found some toys that cost four dollars
each. How many of the toys could she buy?

A. 32 + 4 B. 32 - 4 C. 32 × 4 D. 32 ÷ 4

8) Jerry was playing games at the arcade. He won two tickets from the basketball game and three
tickets from the coin push game. How many tickets did he get total?

A. 2 + 3 B. 3 - 2 C. 2 × 3 D. 3 ÷ 2

9) Each table in a breakroom can seat three people. If the breakroom has nine tables how many
people can sit in there?

A. 3 + 9 B. 9 - 3 C. 3 × 9 D. 9 ÷ 3

10) A delivery driver had to make six more stops on his route. At each stop he had to drop off seven
boxes. How many boxes does he have?

A. 6 + 7 B. 7 - 6 C. 6 × 7 D. 7 ÷ 6
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